
1 The monpolistic case with flexible prices
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2 Undetermined coeffi cients

Suppose we have the system

zt = AEtzt+1 + dut

ut = ρut−1 + εt

Notice that in this notation, zt and ut may be vectors.
Guess

zt = Cut

such that

zt+1 = Cut+1

Etzt+1 = CEtut+1 = Cρut

Insert into system to find
zt = (ACρ+ d)ut

Compare with guess to find
C = ACρ+ d
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Solve with recursion, that is start with for example C0 = I and compute

C1 = AC0ρ+ d.

Also possible to solve using Kronecker-products, but typically computationally
ineffi cient.
Adding lags:

zt = Bzt−1 +AEtzt+1 + dut

ut = ρut−1 + εt

Now, guess that
zt = Czzt−1 + Cuut

such that
Etzt+1 = Czzt + Cuρut

Insert into strucutral equation

zt = Bzt−1 +A (Czzt + Cuρut) + dut

(I −ACz) zt = Bzt−1 + (ACuρ+ d)ut

zt = (I −ACz)−1Bzt−1 + (I −ACz)−1 (ACuρ+ d)ut

Compare with guess to find

Cz = (I −ACz)−1B
Cu = (I −ACz)−1 (ACuρ+ d)

Again, solve with recursion (starting with a guess both for Cu and CZ
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